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GATUNDU SOUTH DISTRICT

- ASSESSMENT TEST MID TERM 1

~1.

~ STD 7 SCIENCE
The other name of heart beat is also called ‘
_A. waves B. plasma 9.  The following are characteristics of clouds
C. valve D. pulse - (i) Dark grey ‘
2. isfoddercovered with soil so as to preserve (i) Flatbase
it for some months : (iii) Look like bundles of cotton
A, silaga- 'B. pasture (iv)bringrain
C. Hay - - D. concentrates (v) From highin sky
3.  Thegasusedto extinguish firealso (vi) Indicate fair weather o
. A.preserve drinks SR Which one of th following shows characteristics of
. B.usedinbulbs , clouds that are mountaineous in shape?
C. makes proteins in plant A. (ii) (i) - Bu(ii)(v)
D. Helps ingermination C. (iii) (vi) - D. () (iv)
4. - One oftbc;—?bllowing is bothmodern and traditional |10.  The best method of conserving soil where there is
method of preserving food? gulleyerosionis L :
A. Smoking B.Drying A. planting trees '
C. Canning D. Freezing B. construction of gabions
5. Some cooking utensils like pans are fitted with ~ C. applyingmulch
plastic handles or wooden handles. This helps in : D. making cut off drains
B 11.  Anobjectis pulled towards the ground by the
A. making them larger A. weight
B. make them last longer B. inera
C.servesas insulators C. force of gravity
D. make them to be go b . D. force of a magnet
6. Whichis the best way to keep away from drug use? {12. ~ All arteries carry blood rich in oxygen (oxygenated
- A.Alwaysdowhat friendsdo blood) exceptthe '
B. Say no to drugs - - A. pulmonary artery
C. Tryeachdrugonlyonce * B. pulmonary vein
- Jgke drugs that are not prohibited C. Aorta
“The amterials that allow light to pass through them D. Venacava :
but we cannot see through them are called 13.  Whatis givento a type of grazing whereby animals
77 “A-Jmnsparent L are enclosed in a parmanent structure such as a shed
B. Translucent or a pen? * ' '
C. Opaque A. paddocking B. stall feeding
D. Reflected - i C. strip grazing D. tethering
8.  Usethediagram below to ar:jswer the questionthat |14,  Plants use and _ tomaketheirownfood -
follows A ' A. Carbondioxide, nitrogen
B. Inert gases, carbondioxide
K C. Oxygen, carbondioxide
' D. Nitrogen, inert gases
L 115.  Which of the following groups of food make a
balanced diet?
A. milk, bread, sweet potatoes
B. meat, cabbage, ugali
C. meat, beans, fish
; D. Rice, green bananas, potatoes : :
e pistil is made up of parts labelled? 16. Whichone of'the followingis NOT a property of light? .
A'K,L,M A. light travels in a straight line
B.LK,L B. light can bounce back
C.N,L,K C. light can travel from one media to another
D.N,Y,M D. light can bend a round a corner
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A person who abuses alcohol can be descnbedas
- one who can -
A.miSuse money and may neglect their fam11y
B. cause road accident by driving carelessly :
C. gets hooked and finds it difficult to stoptaking
alcohol
D. Ever be happy and has no problems

conducting a certain expenment

(i) They lit a fire outside the class

(ii) They cut some papers and threw them on

burning fire

They noticed that the papers were blown up due to

A Conductlon of heat

B. Convection of air

C. Wind from the air -

D. Radiation of heat

Use the diagram below to answer the question
below

, ’I'lnspartofaﬂowerlscalledthe L
A. Stamen - ‘ ‘
B. Pistil
C. Calyx
D. Corolla ‘
Name the planets shown below

A. Mercury ~ Venus Earth Mars
B. Mercury  Venus Mars Earth
C. Venus Mercury Mars Earth
DMercury  Venus ‘Earth Jupiter

Onteri was asked to explain how vegetat1on cover
reduces soil erosion.

Which answer was correct?

A. adds manure to soil .

B. Reduces the speed of movmg or running water
C. Loosens the soil

D. Reduces rainfall

Standard five pupils from Thika primaryschool were
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C. HIV/AIDS

A std 5 ~upil was given a kilogram of cotton w 0ol
and a kilogram of stones to carry. Which one was

 heaviér than the other

A. stones - B. same
C. cotton ' D. None
Drug misuse is the -

A, Usage of drug in a way that you depend on it and

use it in excessive amount

B.Usage of any drug for any other purpose other tban
 the recomrnended one

D. User becoming addicted to the drug and body
functions depends on the drug intake

Which one of the following is odd one out

A. Newt ~ B.Toad

C. Salamander D. Chameleon

Below is a description of state of mattet

(i) Has definate volume

'(ii)Hasnodeﬁmteshape S
ng can fit the description above?
B.Oggn
D. Alcohol

John sawachﬂdthhﬂ:efoﬂt)wmgsymptoms
(i) Thinbrownishhair

(ii) Swollen stomach, arms and feet :

(111) Body weakness

A. Rickets

B. Kwashiorkor
D.Marasmus
Which of the followmg effects isNOT an effect of

" drugs abuse

A. Addxcuon

PR

C Poertuticentration and cordmatlon

D. Hallucination -
Otieno and Wanja were completing to blow out
water from their mouths on a hot sunny day. They
noticed that there was a rainbow formed. They
concluded that it was formed due to

A. sunlightonly - :
B.waterandair -

C. sunshine and droplets.

D. mirror and water only

Below is a diagram of a seed. The parts labelled K.
L, M, N respectively are:-
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K L M N

A. microphyle  hilum cotyledon testa |

B. hilum microphyle cotyledon testa
C. microphyle  hilum testa cotyledo
D. cotyledon microphyle hilum testa

. The tail of a windvane should be:

A. smaller than the head

B. thrice larger than the head -

C. twice largerthanhead

D. equal to the head

The rate at which water passes through different
soils is determined by ’
A. soil fertility

B. waterretention

C. sizeof soil particles

D. colourofsoil

When two objects of different masses are dropped:-
A. The heavier one falls faster

B. The lighter one falls faster

C. They fall at the same speed

D. They collide

The stage during which a boy or girl changes from

B. Gases expand on heating

C. Gases occupy space

D. Ballons are heavy

The dlaglam below shows that pressure in 11qu1ds

37.

Py R

A. Increase with height

C. Increase with depth

'B. Decrease with depth |

- D. Is equal at same depth

The following are reasons for hghtmg ahouse

except?

A. Ttenables usto see clwly

B. For safety

- C.Todiscourage pests

38,
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. D. To make the house beautiful

Three of the following are conditions uecessary for

genmnanoncxcepﬁ
B. Ar :
C. Warmth

. D. Moisture
‘Std 5 pupils collected the foIlowmg matenal

(i) metal sheet
(if) a piece of wood

- (iniywire -

(iv)Nail

Which wwher instrument were they hkely to

',"ﬁ
L d

being a child to be ayoung adulltisknownas construct?
- A.  youth B. teenager - - A. wind sock B. Rainguage
C. female/male . D. Adole i oo G Windvape - D. Air thermorneter
young onw" A. Becoming blunt
‘A. Crocodile B. Rusting ~
B. Lizard C. Decaying.
C. Chameleon D. Drying
D. Bat 41. Thealrwebrwthmlsnonnallycleaned inthe
-Study the figure below A hlngs '
B. bronchi
C. alrsacks
~ D.nose
42. Thequantlty of matter in a substance i iscalled
A. mass
- B. welght
Thediagramshows =~ . ‘D. shape )
A. Gaseshave masses 43. The diagram below shows which type of pollination

L LT
)
-

ki

A. wind pollination
C. selfpollination

B. Insect pollination
D. cross pollination




44, ShlpS and ferries are made of metal They ﬂoat
‘because of their
A. material " _ B.‘ size
C. shape - ~ D. volume
45. Study the figure below and answer the question that
~ follows

=
23
, Soﬂ labelled Cis hkely to have the following
characteristic -
A. large air spaces
B. . poor water retention
C. highest capillarity
D. large soil particles
46. Three ofthe following are effects of HIV/AIDS
infection on an individual EXCEPT" :
~ A. congestion in hospitals ‘
~ B. opportunistic diseases
C. lowered self esteem
'D. lowered standard of living
47.  John saw shiny particles in the soil. The component he
saw was

A. organic matter B. mineral salts
C. mineral particles D.soil nutrients
48. Thesecond dose of D.P. Tvaccme is given at the age
of ’
~A. Birth B. Six weeks Hades —_— -
C. Ten weeks - D. Fourteen weeks e - oo
49. Below are reasons why we preserve food. Which is ' e
notagood reason? o

A. To avoid wastage
B. To make food tasty
C. To prevent food from going bad and causing harm
to our bodies :
* D. So that we can use them when that kind of food is
out of season
50. Below are signs and symptoms of malaria EXCEPT‘7
A. feeling cold and shlvermg
B. pain in the joint
C. Excessive sweating .
D. Weakness and loss of weight
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- GATUNDU SOUTH DISTRICT
‘ - ASSESSMENT TEST MIDTERM I
_ ' STD 7 SOCIAL STUDIES
R WAMBUAREA . |
- o J T e 1+ )
S \v L J.-L- ‘ ' 7 '. . '
J R.Karo
: -2 .
. a |:l
_ : e 1. Wambuareals most hkelytobeﬂ L
' © A 'Coumty B Provmcnalam
E: School | C. Region - D. Distriet
‘ ‘ ) B ‘ 12 lheSouthEastempartofWanbuareals
CcC.C Ch;ef"scamp B A. Pastoralistarea
; . B. Dairy area
C.D CattleDip . " Mining area
b armac B D A@ma‘m : ‘5
: ’ . T road 3. Whatisthe populatlonpanemof Wambyamg?
.LI_| ] Scrub ‘ A. Denselypopulated S
. B.  Evenlydistributed
C.0 Countyoffices’ C.  Sparsely populated. ",f
Forest 4. Theclimate of North Westem partis likely fobe?
’ 1 A. Hotand Dry - B. Hotand Wet
, C. CoolandWet  D.  Normal conditions
15. Ittstmetosay ' """du'ecuonowaemels
g g A NorthWest ' B North
16. Whatlsthe approxunate length of River Karo from ,
y theconﬂuence F - ) -
- C.- -~ D. 6lm §
7. . The people of North Western area of the region are
o C. Hindus - D.  Pagans
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industries?

“The following are factors mﬂuencmgpopulauon

The type of democracy where all the members have
the right to be heard and vote for thexr leaders is

A.  Direct democracy

B. Indirectdemocracy = 7 -

C. Autocraticrule ‘

D.  Angred democracy )

One of the following is true about African

socialism.Which one is it?

A. Kenyans should live together in harmony

B. Kenyan region should not be developed equally
C. Therich people should govern Kenya

D. Kenyans should not carry out their own activities.

‘Which one of the followmg type of human right 1sonly |

enjoyed by Kenyan’s over 18 years’7

A. Freedomof movement
B.  Righttoeducation. .
C. Righttovote -~
D. Righttolife

Whichone ofthe followingisa mponmblhty of ken

citizen? '

A. * Participate in corruption

B.  Encouragechild labour '

C. . Encourage tribalism- -

D. Takingcare ofour env1romnent

Magquis type of vegetation grows m

A..  Savannaregions
Equatonal reglons -

D. - Temperateregions

- Which of the following was not a way of i mtetacuon in{

‘thepast,,_ .
- A Trade

B Games and sports
C Marriage

D Sch

Which of efollowmgdoes‘

Sugar

4 Tobacco
Bankmg,msumnce,hotel and catering fall under the
category of industries known as _

A. Cement

C. Tea D._ :

“A. Processing ~ B.  Service
'C.. - Manuficturing D. - Assembling

distributioninKenya except" '

A. Rainfall

B. Soils _
C. Transportand communication
D.  Population density

Which one of the followmg isnota problem facmg
marine fishing?

A Inadequate planktons -

B Presence of carnivorous fish

C. Inadequate storage facilities

~ D. Inadequate capital ‘ -

“he.

i, A Mangrovevegetation
< B

R £y

21.

124.

N\ =

What is the source of rivermarked K~
A. ‘Nyandaruaranges B. Ngonghills

~C. Mt Kenya: D.  Cheranganyi hills
The vegetation found along the shaded region marked
CCis?

, Savannah vegetation
- C. - - Woodland vegetation
D.  Forest vegetation

‘ 20 Wthh of the followmg rmmng method is used to mme

A.,_ _

122,

s .;'7 23.

T s R SR
B.  Shaftmethod

C. Aditmethod”

D.  Open cast method

Which of the following type of fish isNOT caught in

the lake marked M.

A. Nileperch

B.. Trout ’ e R
C. Tuma

D. Mudfish

‘Who among the following communities d1d not
migrate from the country marked JJJ

A. Maasai B.  Pokomo
C. Lw D. Nandi

Three of the followmg are benefits of trade. Which one
isnot?

A. Itpromotes agriculture

B. It promotes peace among different counmes
C.  Itcreatesconflict

D. Itearns foreign exchange for the country

The Bantu couldn’t advance further to the North of
Shungwaya because of ? - S .
A.  Fear ofthe wild animals ' :
B.  Theareareceives little rainfall

C.  Fearof attacks by the Galla

D.

‘Lack of food and water.

e sivees |



. Theschool routine is unportaxuof all ofthe followmg 3 The fOUOWIDg are the arms of governmer: L\ept

except _ * A, Legislatore B. Cabinet

~A. ltassists pup11s to;aanageume - - C. Judiciay =~~~ D. Exeasive
B. Itenables the school to run smoothly Use the map to answer guestwns no 34-38
C. Controls leaming operation s N\
D.  Cause confussion in the school.. > y , o
Three of the following communities are Kalen_un
speakers. Which one is not?
A.  Kipsigis

- B. Tugen

C. Sambuu

'D.  Marakwet

- The following aspects of culture need to be presérved
Except

A.  Circumcision of boys
B.  Traditional dances
C. Tladmonalmamages R =
D. Femalegenital mutilation 1
Which one of the following is NOTa role of

~ traditional government in society. B _
A. Maintaining law and order in territories

B. Protection of people through armies

C. Government tepresemahves helped to settle

2 |

~bow?

disputes and conflicts among the people - | \_ Tl : : y
D. Encourage corruption'in the society 134. Thelongitudes marked Z andYare " and
" The following are charactenstlcs of a certam type of respectively? 5
vegetation. , A, 22Nand 12°S B. 12°Sand 22'N-
(i) Short, thornand Sca“mdplam C. 51Eand22°E D. 22°Eand51°E
(i) Tough short grass 35. Identify the type of mountain marked K.
(iii) Cactusplant , o "~ A. . Foldmountain B.  Blockmountain
Which type of vegetation i1t C. Volcanicmountain D. Residuemountain
A.  Tropical vegetation 36. Identify the National park marked t
B. Savannawoodlands o " A.  RuahaNational park
C.  Desert vegetation : - B.  Serengeti National park
D.  Swap vegetation C. Dinder National park
Which one of the following is notaoontnbutlon of D. Kidepo National park ’
farrmnngastemAﬁ'Jm‘? o - {37 Whatis the main economic. actmtyofthe people who -
A, Foreignexchage ' | liveinthearcamarked 4ZEEE5
_B. People get employment | - A. Famers
C. Developmentof mﬁasttuctln'e _‘ ' : B. Traders
D.  Corruption | C. Fishermen )
. Which one of the followmg doesnotpromotepeace ; D. Pastoralists '
in society? ‘ . 38 Who introduced the cloves in the Island marked cc?
Denying people theirrights - : A.  Seyyid Said
Being fair to all people o i B. CarlPeters
Many policemen areemployed N | C. VascodaGama
Business people are emouraged to b ring their. | D. DavidLivingtone
money. . Afamxlydmtcmslstof'ﬂt father,mother and children
Which one of the following factors does not aﬂ'ect the : “is known as
climate ina given place" ; %P A.  Nuclear -
" A Altitude ' B. Extended
B. SOﬂ C. Single parent family
C. Relief D. Parental family
D. Shapeofthecoastline - S
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One of the following is nota reason of coming of the
early visitors ‘

A.  Changing African culture -

B.  Exploration :

C. Trading

D. Missionary work

Which one of the following is a way of abusing human

 right?

A. Early marriages

B. Educatmgpeopleofchlldnght
C. Talkingto children

D.  Taking childrento school. -

The following are uses of soil Except"

A.  Glassmaking

B.  Cooking food

C.  Decoration and making of onaments

D. Makingpots

The commodity that is commonly transported by
pipeline in Eastern Africa is? \

A. Water = -

B. Petroleum

C. Liquid

D. Soda ash

The following are the nghts of person with spec1al

- need.Which one is not?

A.  Righttolife SR
--Righttovote

'C. Righttobegiven money

D. Righttoprivacy
Which of the following cultural artifact are made ﬁom

clay?
A.  Dishes,drums.jembe

“B.  Guitar,flutes,pangas

C. _Plates,dishes,pots

D.  Kbnives,tray,stool.

One of the following isNOT a flmctlon of the
electoral body in Kenya?

A. Registration of voters

B.  Keeping and revising voters register

C.  Assist the defeated candidates

D.  Supervising of election.

with the European. They were?
- A.  Collaborators B. Resistors
C.  Enemies D. Betrayers

Which one of the following statement istrueof
African socialism

A soc1ety is happy when all reglons are not
developed equally.

- Kenyans should not be mindful of other
people welfare.

All human beings should live in harmony
-Kenyans should try to enrich themselves

49.

50.

51.

52.
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54.
55.
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57.

Nabongo Mumia and Waiyaki wa Hltlga made fnend o

ss.

159.
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- What is Lawlessness‘7
“A. Itislackoffood andmoneymme socnety

B. Itiswhere people behevetheyare more.
_important than others

C. Itiswhen people refuse to glve bnbes to get
 betterjobs

D. > Itis where laws ofthecomﬂryare not respected.

Which of the following is the bestway of conserving

wildlife?

A.  Fencing the national parks -

B.  Establishing animal sanctuaries

C.  Controlling the sale of wildlife products

D.  Educating people on the importance of wildlife.

~ Whichione of the foflowing methods of mining isused -

to mine sand? 7
A. Evaporation ~ B. Dredging
. C. Scooping D.  Quarying
The following takes place in civic elecuon.WhJCh one
takes place last? : N

A.  Registration of voters

C. Reglstered voters castmgﬂlelrvotes
D. Countmg ofvotes ~

Which one of the followmg groups of Kenyan
communities share acommon arigin?

A Sambmu,Aembu,Pokomo )

B.  Samburu,Abaluhya,Bc S
C.  Samburu,Turkana,Maasai

D.  Samburu,Abakuria,lteso -
Which one of the following does NOT undermine

peace inthe society?
A. Trbalism - B. Nepotism
C. Racism - .D. Faimess

Mekatilili wa Menza was arrésted and depoted
to_ by theBritish colonialists.

A.. Uganda - B.. Gtm

C. Kajiado | D. Nairobi |
The president in Kenya is usually elected aﬁenevgxyﬂ -
A. Syears ... B, 2years ‘
C. 10years D. 1 years

Nairobi began as

A Anagricutural centre .

B. Anindustrial centre
C. Acommunicationcentre
D. Atouristcentre
Who is the head of 3ud1¢1ary’7
A. TheAttomey General
B.  The Chief Justice

.C.  TheJudgeof Appeals

D. Thechief Kadhi.

Which one of the following factors does not drain
influence vegetation distribution of a place? R

A, Climate ~ B.  Humanactivities
C.  Govemnmentpolicy D. Longitudes
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The main tourist attraction alc;ng the coast of Kenya
is? ‘ '

A Widie  B. - Historicsites |
C. Sandybeaches = D. Scenery
Pmtymwns" :

A Weavmgclehncloﬂxes
- B. . Having good thoughts and mtennens

€. Avoidingothers -

. D.  Obeying ourleaders

63,

65.

- 66.

‘How was Stephen,the first christian martyr killed by
the Jews?

A. Bumttodeath
-B.  Crucified
C. Beheaded -

D.  Stonedto death
Who among these prophets was chosen to serve God

when he was young?
A, Isaiah :

B. Jeremiah

C.. Hosea

D. . Ezekiel

Abilities are:

A.  Fruits that the Holy Spmt glvm

B. Thmgs thatyou are ta_lented mr,domg _ w

D.- Specml g1ﬁs that enable us to do mental, social
or physical activities well.

- Which one is not true about sharing work?

A. - Itmakes work easier
B.  ltisless practical
C. Itpromotes unity

- D. - Ttislesstiring

Who among these people helped in bulldmg me
sacred tent?

A. OholiabandDavid

B. . Bezaleland Oholiab

C. - SolomonandOholiab .

" D. DavidandBezalel

The sheddmg of the blood of Jesus brmgs
- Forgiveness of sins
B. Desire to die
C.  Persecution of christians

- D. ' Rememberance of sins
68,

“Which one is not a way of putting God first?
: -WorshlppmgGodalonc : :

C. Respectmg the sabbath , :
D. - Coveting your neighbour’s property '
The best description of being spiritually poor is?.
A. - Having very little '
B. Notwishingto have money

C. Spending money carzr.llv :
D. Beingready to share wixiz we have

s

7'5',_

o 76.
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- peace at home?
'A - Living inharmony with faxmlymernbers

79.

- Inthe story of the nch man and Lazarus,who went to \

" heaven finally? - . , 7
A, ITsaac . .B.  Therichman
C. Thepoorman = D. David

What was the name of the pool to wh1ch Jesus sent.

“the blind manto washtnsface" o

A. Siloam B. ' LakeGalilee
C. RiverJordan D Gadara
Jesushelped the lepersby -~

A. - Askingthemtopray -
B. Healing them of their sickness

- C... Askingthemtorunaway .

D. = Praying for them
Which ofthe followmg isnot achmactenstlc of street
chﬂdxm" T

| A Theyare fomdmthesnee’(ssmﬁingglue

" The beg from motorists and passersby
C. They are dirty and wear torn clothes -
D. They visit their relatives once a week -

The apostle Paul worked as a?
" A. - Fammer

B. Doctor

C.  Tentmaker

D.  Fisherman

‘Which one of the following is not a reason why

A. Tocondemn our enemies

B.  Topraise and thank God
C. Prepare foraschoolevent . -

'D.  To prepare for sunday service -
' A good leader is one who? ‘
“A. Listenstoother people’s opnmons «

B. Laughsatothers problems

C.  Ignoresother ’s problems
- D.  Talks about other’s challenges

“Eh,Eh Lema sabachthani” means? -

A Lord,lfltlsthymlliakethxseupawayﬁ-om

me,

B. My God,my God why did you abandon me
~C. Father forgive them,for theydo notknow

* what they are doing.

D, 'Eh,ah,EhJah,youwxnbewxmmempamdxse

Which one of the following is nota way of expressing

- Forgiving those who wrongus

"' _.C ' Being friendly to ourparents-

D. Refusing to shake hands with friends
The story of the prodxgal son teaches that we
should

.A.  Bereadyto fornge -
B. Have friends ‘
'C. Enjoyourriches

D.

~ Bethankful
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. A. Israelites and Mldlamtes .

- 81.
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Iane isastandard seven girl Her parents canm§

The Holy Spirit led Gldeon in defwtmg

B.  Philistinesand Midianites

~ C.- Midianites and Amalekites

D.  Amalekites and Israelites

Thestarement WhowasconcelvedbytheHoly Spirit” |

is found in the?
A.  Lord’s prayer
B. Apostle’screed

C. Hymnbooks
D. NatlonalAnthan -
To be led by the Holy: Spmt means?

A. Our decisions are based on what God wants
B. We cannot make our own decisions

C. - Wedo notneed to think for ourselves

D.  Ourdecisions are based on our needs

Creauae thmkmg is used inthe followmg activities -

_except_ ?

" A. . Washing
B. Ruming
C. . Drawing
D. Walkmg

‘God allowed Adam and Eveto useevery tree in the

garden of Eden except? -

A. ThetreeonNorﬂaemmdeofthegarden _
B.. = Thetree in the Southern side of the garden
C.  Thetreein the middle of the garden _
D. Then‘eemﬂwEmsgleofthegarden.
Moses was reluctant to ask the King to release
Israehtes from Egypt mainly because? =~ -

A.  HewasnotanEgyptian

-B. - Hecouldnot speak well ‘
C. Hewasyoung

D. Hehadkilledand Egyptian . -
Christians should obey those in authonty because

, A We fear them.

- To beloved md favdemd by.them
C. Itis God’s command
D. .. They are powerful

. When Jesus washed hxs disciples feet. He was teach
o A Ttis goodtobeclean
) B; ~ We should have a towel when washing our feet|

'C. - We should refuse to be washed by our leaders

D. . Aleader shouldbe ready to serve others. -

afford to buy books for her. What can the chilc
her class doforher? .
A. Hateher = .

B. : Takeher shoppmg for clothes

C." " Sendher away

'D.  Share books with her

- 89.

Paul’s family is MymspMSom ofhis foxmer

school mates sit and decide to help Paul overcome his
troubles,Whach of’ theﬁ'wnds below gave Paul abad

cew?%

190..  Whichone oftthe following is the bestreason why young
christians should use their time wisely?

oWy

“They are responsible for their actions
. Theycanfailexams |, -

Wilham—drugstohelpiumforgethis problems?‘a%
Edwin- clotlies for him and his family

- Rodgers-Food to keep his famllygomg '

Dorcas- books for him to read l J

Their body is the temple of the Holy Spirit ~ *

~
o A L
R TR R R T

Iheyvnllannoythelrparems. '

i
b
3
"

3 - ;
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GATUNDU SOUTH DISTRICT
ASSESSMENT TEST MID TERM 1

STD 7 EEQL!SH

4AssoonasI 1
.Hewasatit, 4 shc

Whathad

become 6 father He Jrinlan

He 8. t he was stressed Hrs goingout

friends could ease his problems. That was what

hekiﬁtﬁtelhng us.
ere areyou? If get ou, you will 11

to mo er. wondered what she had done to

I R Y N N R SR

-0
. .
;

e
W N

17.

18.

19.

today,” he shout was 13

_15_
A had - ~ B.hard
C. heard -~ D.herd
A is | - B.would,
K e B oad
- A.ne .
C. no%ad r D. ﬁtﬂegood
:'é' alsq .‘ B‘ am
- C. agpinist . even .
é.eachone % al
. every one . everyone
Aot B for
(/_i_. over ' g aboqt
. TOan! ~ B. heavily
C. uanh - D.heavy -
A.held B. i
C.on
é. held of
Ahm« Sl o
C. accept
é. alive
A. said B
C. screamed
A. addressed
C addresed
ot

C eserve - 'i'“’,

_the sum before wntng the

answer.

A up. B. dawn

C. out D. over .
I can’t beleive her she has always made . all
her stories. .
A. up B. out .

C. over © D.off

My brothei has mameda -, .
A, pret , young, Kenyan

B. Kenyan, pretty, young

C. young; pretty, Kenyan

D. young, Kenyan , pretty , :
Her_ ., , . =2 dressisvery

- expensive ' . B

A. shiny, small, new
B.s 1 shiny. new

his voice,Iknewhe 2 up to; 20. Sharethe mangoes
and abu .

Hr

“| For questions 24 and 25 arrs

C. new, shiny, small
D. small new, shiny

all the pup11 in your class
Crammo D tmween
among : een
21. Iprefertea_ __coffee
A. by B. and
C. than D. to

| For questions 22 and 23, choose the best guestlon

ta
722. We went to school yesterda% 5
"B won’twe?

A. did we? ;
C. didn’twe? D. can’twe? °
23. The polrceofﬁcerswﬂl arrest the thugs, ? .
A. won’tthey B. Isn’tit
C. will D.isit -

1ge thg sentences given

to make sensible --ara------hs

i1) One day an old man filled two sacksw1 salt
m)Andsetout for the town :

(iv) And went to fetch the donkey

A. n 1 1v 1u :

B. 11 111 1 1v

C. i,iii, i1, iv

D. i1, iv, 1, iii

- 24, %1) He tastened the two sacks onthe donke s back-

L p25. (1)Hecalledoutmyname -

(i1) All pupils cheered when they saw Mr Mazun
iir) And'gave me a parcel that contamedehocolate

' 1v)Buthewasn’tc toteach -
(1),(1V) (iit), (i1) B. (ii), (iv), ?) , (i)
C. (i), @), (iv),(ii1) D. (i), (111) iv); (1

Read the passage below and answer questlons 26-38
Most people do not know what to look for in a leader.
Some base their choiceomrthegender of the person. For
others; what matters is where somebody comes from. Yet
others consider how much money he or she has given

. | them. Thisis unfortunate. Ourchorce shouldbe deter-

mined by more worthwhile reasons. i =
First, we must look for leaders w1th vm Such fpeople

arealways thinking of ways of in theliveso
members of the society. People want leadets who-will -

inspire them. To do this, these leaders have to lead by
example. Working hard and encouragmg otherstodothe

nght is therefore very important. -

Secondly, leadasarehmnbieandhonest enough
to own up to their mistakes. It is oaly then that such -
mistakes can be corrected andav infuture. Good
Teaders consult other rtant matters affecting
theircountry and admit othersmyhavebettendeas
than theirs. Serving mefibers of their society, regardless of

an individual’s tribe, religion or stat\s, comes mtmally to
suchleaders. -

Another quality of good leadersisa senwe of respon51-
bility. Such leaders ke to protect rather than
plunder the community’s resources such as forests, lan d
and finances. People with past records of
property or mlsapﬁropnanng public funds should not
elected no matter how convincing they maysound or how
much money they give out during campai gn

Finally, in selecting leaders, we should look for those

who respect and value human life. Such leaders are bound

to safeguard the securlty of the commumty Itls dxﬁicult to




understand how those people who aspne toleadcan -
incite their followers o bear arms agatnst others. We
should totally rejéctpersetis of this

26. Most%ople wrongly choose leaders conmdenngall

of the following except:
A. thelrongm s
B. amount of money they gwe o
C. visionary leaders Lives

D, whethermale or female %__
27. Leaders wha think of ways of improving
members in'the sociefy are sa1d to have a_ .
A. vision
B. mission , .
D. diligen o RETELR
‘ 28 Accordmg to the passage, to mspxre means to
: A. totalk to people
B. to stimulate people
- C. toinfluence positively
- D. to pray for people
29. Wthh one of the following is false?
A, Aleader should be hardworkmg
B. leaders should just give o;ders
C. leaders should lead by
; D. Aleader. should be encouragmg
30. Complete: Honest is to honesty as humble is to-
A. humbleness
g humbling .
D. humbility
31. What do we mean by:-
“to own up to their mistakes” _
A. torefuse mistakes ‘
B to accept mistakes and be accountable
]C) Not to énakomnlxclstakes
' to avoid mi: cs : T A o
32. The word plunder can be replaceﬁiy e

D.to walk and walk

- Jthe total wel
- |stones found ina single crodile was 5 kilograms. This load
: was carried by an animal of about five metres long.

~ Hfloating to the surface. Evenma

een kn anor approxnnaiely 200 yearsthat
cnocodxles living in the River Nile carry stones in their -

‘Istomachs. Recent research on nearl tim()oerocochles in-

{East and Central Africa has shown

- {carry stones. It has also shown the real reason why the
J|stones are carried.

these reptiles also - |

“Some people used to think the stones helpedithe:

crocodiles to digest their food or'stopped them from
“|feeling hungry when foed was scarce. However , this is not
jthe case. The fact is that the stones glvetheammals extra

%dult crocodiles always contain plenty of stones

live in rivers or muddy swamps. But

| animals under a year old do not usually have stones inside
| them. This sug
_|by accident as

ests that the stones are not Just swallowed
beasts feed. Indeed there is evidence
that crocodiles often travel long distances inorder to find -
suitable stonesto swallow.
In any adult, stones make up about one hundredth of
t of the crocodile. The heaviest loads of

Five kilograms may not seem very much extra welght fora
large crocodile to carry. However, it is enough to enable -
the crocodile to remain under water without any risk of
ﬂowmg river,a

le with stones in it can comfortably hold its position
on the river bed; but a baby crocodile cannot do this. It

mustuseltslegstostop1tselfrolhngoverandttwnmtrest

when under water or when floating. It needs balast.
rocodiles {anveerle have been knownto catry

stones for

A nearly 200 years

- A. overuse : D. 200 ¢ andmore o
B. steal - 140. Theotherm given to-crocodiles accordmgtothe
C. misuse : passage are the following except?
- D.exploit A. Snakes :
33. Whlchofthe followmgxsnotaquahtyofaleader? B. Reptiles i
A. protective- - - b C. Animals
B ablhtyto pmoperty L D.Beasts
o C responsibility : . - |41. Why do adult crocodiles swallow stones?
: D. honesty ‘ - A. To gain extra weight
'34 Apersonwhodoesntval‘uehmnanhfeshould ] i B, To digest their food :
A. not be elected into lwderslup - C. Tosto?(them from feelmghungxy
¢ pot ?.f’s‘?"w’”d 42. The: Té’é""mb‘gg“ aé’d Tined: Write ts opg
, . DO T W 1s underlin rite its 0 SIte
35 AID bexhored oo P é.ﬁte g Hard. ppo
’ eader who is respec can - e
e A mﬂmnceoﬁ:\erpeoplemeanvely 143, Wh:chagxtrynals donothave stomsmdethem?
g shouldn’tleadoth%rs g onatd g. fexanlal&s
~ C. ensure presence of security -- erpeopie. - males
' . D.-hardly safeguapd the secut comamnity C. old ones
36 hckavefbﬁmnﬂaefoﬁomngsenwnce ; - D.youngones -
;- leaderswhowill inspite them” = 44 Which statement shows that the stonesare not
_ A. people B leaders swallowed by accident?
A.Young crocodiles look for the stones :
37 Leadexswhomte othetsnegatwely shmddbe B. They travelfartolook for suitable stones
At C. The beast swallow the stonesasthey feed
1(3: acoeptedf . D. Thestoneshh;demﬁlerrfood :
45. It is true to sa; t '
: oo A. Allcrocgdllesmm ers have stonesmtheu'
— 38. Tolead yexamplelsthesameas ‘ stomachs
A. totalk the walk i E B. All crocodiles hvemwater
: B. totalk and talk : L e C. Young crocodiles have stones in their stomachs
+*  C. towalk the talk SR

D. In any adult, stones are too heavy for its welght ,
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46. A single five-metre crocodile carries of
it°“§s ki
vekilograms -
ﬁﬁqulogxams ' , .
C. fife grams : '

47.Ina fa;itt}{owmg nver a crocodlle with stones can
comfortably?
A.float
B. stay under water
C.si :
D. drown
48. How does a baby crocodile maintain its position nnder
water?
A. It crawls
B. It swims
C.Itusesits legs
: D.Itfloats
49. The story above refers to research done on
A. Crocodiles from River Nile
B. Crocodiles of the world
C. Crocodiles in East and Central Africa
D. All crocodiles
50. Which is the best title for the passage ?
A. Why crocodiles contain stones
B. Crocodlles as stone-eaters -
C. Crocodiles and their young ones
D The Beasts of River Nile
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GAT_QN DU SOUTH DISTRICT
ASSESSMENT ml}ﬁ- TERM 1
: , STD 7 MAT] TICS ,
1. Write the following numbers 1nword569990603 \' ASHB- 5550, B. 466 L 54
A.  Sixtynine million,nine hundred and ninety C336 35b D. 80 156
thousand six hundred and three 11.  Amaneams sh 12000 permonth.He spends 45%
B Emmmnemomﬂandmsxx : of his salary on food and keeps the rest How much
. C. Slxmllhonmnehmxdredandnmetythousandsm - money does he keep? . :
D. Sty millian i hundred ER— A shS400 B. sh17400
six hundred and three C. - sh11955 D. sh6600
2. Whatlsﬁxetota]giﬁWalueofd;g]t ] 1ntheﬁgmm 12 , Whatisthetotalvalueofdigit}inthemnnl?er28.963? E
 below9134675 A-0.03 - B.300
A 10,000, 'B.  1000,000 - C.0.003 D.30
~C. 100,000 D 1006 : 13. What1s;thze2penmeterofthefollowmgﬁgum‘7
3. Thepumberofpeople infected with EBOLA was mk"f"';?l '
counted tobe 9849630. What is this number rounded | o
offtothenearesttenthousand. =~
" A. 10,000,000 B. 9850000 _ . ;
C.9950000 ° D.985000 A iSdem o TR, 3em
) 1 C. 66em . D. 43=—cm
+ Whatlls the squate root °\f|5 6 . 3 tins of capacity 0.65L,0.78L and 105 L are used to

ASE ek Bz— :i)‘:,@acentamerofcapacnﬁhtresHowmanymore
ca2Xt - 'pi ossscallp ¥ ltre$ are required o il the container?

s What‘:slﬂgxo’oogf . 5 A 143L B 18L

A 0162 Lo ~B,§] 0.0162° G v24L . D05
C. 162 ' 16 2 15. Kaman’s watch loses 5—2—secgnds every hour.How

6. Wntedownmenexmumbetmthefollowmgsenes : ;manysleoondswillitalosemﬁhoms? .
3,7,12,18, o A.SZT 7 ,B'26-8-
A 29 B. 23 C. 10% | D %
C 25 | D. 27 16. Whatis _omo+5)—1L? SR
7. Whatis the area of a square whose sidesare 34cm Asl 5 87’ B WL
A. 1296cm? * B.1024cm? ' 8 o 8
" , , CS5¢ N D,-4?; ;
C. 1085 D-1156em 17. Whatis8a—5—2a=37 —

- Abuscarries 54 people inone trip. Howmanypeople A 32 : B 42
,arecamedm18 rips? el e L
A B8 g Wharisteara e
c. m  D. 1097 O

9. Whichofthe following numbers is divisible by 11
A. 52634 B. 45632 Dcm
C.46233 D.56329 ¢

10 Inaclassof42 pupils each was given 8 excercise: A 1200cm O™ B 89cm?
books, 120 excercise books remained.How many C. . 49cm D.  704cm?

~ books were there before they were issued?




20.

21.

22.

3.

24,

25.

A. 9000 B %
C.- 90000 . D. 900
Whatisthe-valueoftheangle@ati;edx e

' AlonyuavelhngﬁomNyemwchedNamb}at lm |

Y <R

30.

A 1SL ... . B

Whatlsthevalueoftheanglemarkedl’mﬁleﬁ‘gumi By 3200cm2 ' . B 1600cn’
 below? | | ~C.. 8000111"’ D. 16000cm?
I :v, T 27 ' What 1s( X ——) % o
' e T Al o Bl 2 |
D{ o C 3 D. 132
A 118 N B 64 . Y 2
e e 4 D 1240 28,\ Wha 1stheﬁoftheshapedrawn
Whrchﬁgwehasthefollowmgpropertm _ A42cm2
Dlts opposrte mdesareequal - gam-. B. 47cm- ‘
(ii) Its opposite side are parallel . scm L. cotemt
(m)Its opposite angles are equal o | B
A. Rectangles 'B. Trapmmn . D 68cm’
C. Square - D. Rhombus  ]29. What1s45%converted into ﬁactlon 7
A bottle holds 750ml of juice twelve such bottles were A.Jg.’_g_._ _' B-l_‘l"_ a
taken during a party.How many decilitres of Juice were ié':}: © . o D%??B
taken? | C3¢%0 N

Class seven of 35 pupils drank2dfpacket of milk
mch.thIeclassrxof40pup115drankﬂle sameamount -
150L

C. 1SL | D. 80L

- The table below shows the number of mothers and

A 70° B, 125 | 'chlldmn.  whi st A

Coss Does L ;———%o,. e TWeaTTrasTFiT5at]
The population of a school increased from 250 pupils }M"-‘m 130 | 253 460 |410 | 286 [165]
t0 350 pupils. What s the percentage increase?  |children] 220 [240 180 203 J100 {90 |
A 40% B, 20% HowmanymothersaaendedclnncmthWk‘?

- C., 50% D. 41; % A1704 B.284
Whatrsthecostofﬂlefollomngrtems o C460 D.283 -
2packets ofsa]t@shzo s o - 32 How: many more cubesareneededto complete the
3kg of rice @ sh 70 stackbelow” 5> T
2kg of meat for sh 300 .

A sh390 ‘ B sh$50
C. - sh780 ' D. sh550

A B 18
c 9 D12

Kamande bought 400 eggs at 80cents per egg and

. sold them at sh 1 00 each What was hlS percentage

pofit?
~ A20cents | B.20%
. C32% D.25%

34 Arrange the following fractions in order of largest to

52

13-
thel = ===
6:3:2 4



35.

~36.

37.

38.

40.

41.

- 43,

g
J!é

42.

A3 321 " B. 3251
6 4 3 2 4 3 6 2 44 Whlchmllbethemxtcrossmthepattembelow?
cl235 D.23513 o
2.3 46 3 6 2 4
What is thesquarerootof2.89
A 0017 B. 17
C. 017 D. 1.7
What is the place value of 6 obtained after working
out2.094x7 , :
A.  Ones B. Tenths ‘ L :
C. Hundreds D. Thousandths 45. Apath9.6mlong was drawn to a scale 1om represent
Intheﬁgmedxawnbe!owwhatlsthesweofangle : 3mWhatwasﬂslengthonthescaledrawmg
marked K A, 23cm - B 6.6cm
€. 32m D 93m
46. Whatxsthepenmeterofﬂlefollomngﬁgm'e?
A 250 B. 230°
C. 110* - D. 140° . f -j8cm
Accar travelled 45km in 1hour. What is its speed in
Mis? , 24em B Jcm
A 45 B, 22-;— 1 oce D. 40cm
C. 450 . D. 3600 : 47~ Thetablel wshowsmerateofsenmngleuers
‘/Kamande thought ofanumberxand d1v1ded it by8 throughp'ostofﬁce
Theresultwas?Z.Whatwasthenumberhehad S
thoughto | ' I'TERS" * | Notover20g ° 00
A. 576 B._9 (Linn'tofweight Not over 50g 7 00 -
' - - 2kg) : Notover100g { 8 - 00
C. ,80 h ' .D' 64 .. i - Notover250g | 12 00
A shopkeeper bought a sack of maize for sh 4000 and Notover500g | 20 00
sold it for sh 3500. What is the percentage loss? - - .. | Notover1000g| 32 . .00
A 40% ) "B, 20% ,_ ’ - Not over 2kg 47 00
C. 12_;_% | _ D.. 25%% Kaxmenylsemthefollomngletters
A bag of rice weighs 86.52kg. What is the total mass Two letters weighing 56
of 16 suchbags l33‘f'3é— _ Tm'eelettersweighmg300g
A 59232 é_' q2'32"’j gj ‘ Howmuchdldhepayforpostage'?
C. vBT12kg %ﬁm. shi74 B.. 'sh76
Divide 76L 3dLby 7 C. shdo D shag
A IL 1dL BoIL 9dL i - 48. - Consu'uctapexpendicularlimﬂnoughpomtBofkm,‘
C. 10L 9dL D. 10L ldL atpoth JompomtAtoC Whatlsthemeasureof
Eleven lorries wereusedtotransportpotatoe&l:‘ach : angle B{A\C" ‘
loxrycamedGSbagsofmmzeIfeachbagwas
90kg.How many tonnes of maize were transporde
A.6435 B.64350
B | . _p [
C.643.5 D. 6435 A 3cm é D

ST s R

IR S e




DISTANCE
N .
o

&
o

v

49.

50.

A6 . B 45
C. 500 D 55
Workout»S(a+2b§3<§)‘ ifa=2b=dc=1
A 300 .B. 16
c. 3 D 24 |
The graph below shows a cyelist journey.Use it for
qﬁestionSO ' | |
120

100

. OO
. Q

N
L

0 10 20

What distance had the cyclist covered in 35 miinutes?
A.  70km B 60km
C. 20km - © D 30km
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 B. Jiendee zako nyumbani
- C. chukua jembe ukalime
~ D. waitie polisi

} DARASA LA SABA KISWAHILI
: Somavnfu_nggvnfuataﬂogha ujibu maswali - F18. »Sham].anmhororo nntatuhmtwa
Kuogeleaniainamoja 1___mazoezi yamwili. - 7 A Tabia - I
Mazoez haya huburudisha sana Mazoezi hayani mazuri | - C. Tathlitha - ..+ D. Tasdisa. *
kwasababu sehemu zote za mwili. Vijana ] 19.  Geuzasentensi ifuasyo kwa wingi o
b\xpendakmngla majini na- kwa : ~ Aligongwa na gari lilo hilo alilodharau :
maji. Wengmehmnglamajnn ili wajifunze jinsi ya - A Ahgongwanamaganhayohayoahyodhamu
‘ , | . B. Waligongwa na magari hayo hayo walidharau
6 ,nimakosamakubwa 7  hatarisana | - C. Aligongwanamajigan hayo hayo walidharau
kwa wanafunzi - 8 kuamua kuingia kwenye | D. Waligongwa na magari yayohayowahyod}mau
bwawaaumto ili kuogelea. Kina chabwawaau | 20. Kisawe cha neno kipusani )
- mtohuo___ 10 Eu_walcxeﬁlnamtuakammakwa ' - A, Glulamu | B. Ajza
" urahisi. - ~ C. Shaibu .- D.Kidosho
L. A .. Ni sentensi gani imetumia ¢ ‘po”yawakan
C. A. Alipolala ni pachafu i
A. B. Alipoendaalimkuta
C. C. Pallpolmwapamqwand%
A. - D. Papo ndipo tumempata
C. Andxkataxahmuhukwamaneno 1,028,946
A. A Nﬁhommo;a,lakushmmmnane,m:ansana
C. nasita
A. B. Mﬂlommo_ya,nshmmnamleelfu,mxausaambame
C. * nasita \
A. C. Milioni moja, ishirini nananeelfu miatisa
C. arobaine na tisa
A. D. Mlhommqa,xslmmmanancelfu nnamhamhame
A . Jmamalgzl hkokat:kaqgghgam‘?
AR . A yaya B ui
A ] C. u-ya - D. li-ya
C. . . Chaguasentensuhyoandkaakwausahxhl
10.A. . - A. Jituhilo lilivawa
C. ) B. Jituhuyo aliuvawa
' 11 - i C. Jlmhlhxchoﬂlqhuawa
tihani. Hivyo inafaa = mz ¢ D.Jituhiyoiliuawa .
ah HIVWE&’ wam Wasichana wengi hupenda ku _.__nywele
ag > ni haw A. shuka - “B.chuka
- wanao1bukakuwa_J§ S C.suka = . D.zuika -
11.A. rhsi B. halisi 1 26. Klkembechanyuklhmtwajana. Jeklkembechanz.'l
- C. adli -+ D.ngmm huitwa?
12.A. wzembe . Baliyezer ~ A kimatu - B.maige
© C. utazembea D. akazembea C. bw D. turutu
13.A. afmyize— B. afanye 27. Mtotoallsemakuwanguoyake ilikuwa imeraruka.
- C. asifmye D. afanyiwe Badilisha sentensi hii katika hali ya usemni halisi .
14.A. mimha B.miba A. “Nguo yangu imeraruka™ mtoto alisema
C. abu - D,usaba B. Nguo yangu imeraruka, mtotoahsema
-~ 15.A.  ‘walimd " B.wahalifu - C. Nguo yangu inararuka, “ mtoto alisema
o C. walimu D.wajinga D. “Nguo yangu, itararuka,” mtoto alisema
Kutoka swalila 16 hadi 30. Jibu kulingana na maagizo | 28 Geuzasentensi hii iwe lettika haliya O-rejeshi temati:-
'__‘_16 Amkuz “Inshallab” [inamaanagani? - Mahali ambapo panalimwa ni hapa
' A—twaheri ] ' A matmhpahpohmwanllltmu&pa .
B. mwenyezi mungu alépenda B. mahali kulimwako ni
_ C.alipata pafim - C. mahali panapolimwani hapa -
_ D. Tuko salama ‘ . D. mahali palimwapo ni hapa
'17. Kamilishamethali ifuatayo; : 29. Bw.naBiHeshima walipata doai(wenye ndoa yao.
“Ukiona ndugu wawili wakipigana ”, M@Mm ikiki katika ch Maamya
A. waambie waachane P msemo ulioangazwa ni?

‘A Hawapikiki pamoja

B. Hawatoshei chunguni =
C. Hawaelewani L




D. Hawatengam ' /

30. Jogooni kwakoo, kama vile amini kwa
- A halati - B shangazi
C. mjomba D. shemeji

Soma klfungg klfuatacho klsha ujibu maswahSl 40
Unapotembea mjini ni lazima uchukue tahadhari

kubwa. Kuna watu wa kila aina; wasamaria ' wema, matapeli,
wachochezi na hata majambazi. Ajabu ni kwamba ukifika
. mjini mara ya kwanza utatanibulika mara moja aidha kwa
jinsi unavyotembea, unavyoangalia majengo au hata
unavyovuka barabara. Utakapouliza swali kuelekea upande
fulani au kwenye jengo fulani basi utakuwa umeonyesha wazi
kuwa wewe si mwenyejl Kumbuka kuwa mgem ni kuku
mweupe.

Ukiwa pale mjini utavmna vituko nawe usipokuwa
mwangalifu utanaswa kama mvuvi anasavyo samaki kwa
chambo; kuna wale watajiweka makundi ihkuchezakaman
na karata. Wengine wataanza michezo ya sarakasi ili
kukuvutia. Baada ya waja kukusanyika pale na kuwa hadhira
huku michezo ikinoga na kuwateka bakunija, kuna wale
wafanyakazi ambao chapuchapu wataanza kuhudumia
vibindo. Watachukua chochote kwa npayaralnm kwani
hutasikia chochote. Utashtuka pesa, simu, kadi za benki na
wtuwnglnemuhunuvunepotm, baadayakcha,kutdcana
nakutumbuizwa ule uta  ‘utamu mohungu’

Aidha mjini kuna wale wanaotumia fiyarna ya ulimi.

Kumbe maneno matamu hutntoa nyoka pangoni! Mwanzo |
watakukagua jinsi ulivyovaa, kisha watakuandamakama | *

kivuli. Ufikapo kichochoroni, watakipora kila kitn. Wengine
hﬁi"iﬁ‘@“a‘“m‘m‘““““’ PR Lkt
~ ufilie

kwanza au hata kama wewe ni mwenyeji 6sfjihnsishe
mambo yasiyokuhusu ndewe wala sikio. Ukiwaona wata
- wakizozana usijitie kati kama mchuzi Wy . Jitie
purukushani na ujiendee zako.-Iwapo wahi
wowote mtafute bawabu aliyevaa sare rasmi naye atakusuni.
Usijitie kwenye shida bure. Kunﬂxﬁmkupmﬂamchong)ma
kushuka ndio ngoma. :

31. Medlah‘mgemmkukumweupe’mamma

chake ni
A. tapeh

33. Baadayamchezokunoga,“wafanyakan

watakuhudumia Maana yaneno“_vg_at_@_nm_bapam
A. wezi

B.madereva

C. wachezaji

D. wahudumu , :

Michezo ikinoga na kukuteka baklmlamaanaya

msemo huu ni

A. kukufurahisha klasmakutosahaumﬂﬂ)o
B. kukunasaakilikabisa -

C kuangalia sana

D. kufikiria sana na kutosahau mambo

34,

pukananahayoyoﬁe,lwapoumeﬁkamJ@MQJ P Starex

| barabara nakugonga mkahawa

| a1

Ni mchezo upi unahusu kuvuta pesa L

A. sarakasi B. uimbaji -
C.karata - D. wiz

Baada ya kuibiwa kila kitu unapotumbmzwa huo
utakuwa ‘utamu mchungu’ kwa nini?

A. utafurahi furahachungu - - ‘

B. utakuwa umeridhishwanamchezo

D. utapoteza mali »
37. Npayamajengoﬂlyobamayamajumbamawﬂlnam ;

nyembamba huitwa

B. kichochoro ‘
-C. kichorochoro :
D. njiapanda :
Mvvandlshlanamshalmtufanyemmurﬁkaponyuurrm .
“yakwanza?

A kujitiap i ’
B. klgmakankamamchuzl
yasiyotuhusu

38.

D. kuwakukuw

Methali kupandamchongomakushukandlo ngoma
ina maana kuwa
A.k\nngmmatahmmmhlsxktmkandxoshxda

B kmamimash:dasmhm '

39.

e T

] jibu_ ali 41-50
Watu kumlna sita walifariki dunia ajali tofauti
katika jimbo la Mombasa, Kakamega na Kajiado. Jambo
“hilo hh]mnnshawahokufakaukaajah zabarabara mwaka
huo kufikiamia tano themanini nanne.
Katika ajali ya Mombasa watu saba walifariki nawatatu
wakajeruhiwa vibaya wakati lori la kubebea ngano lilipoacha

wa uliojaa watu karibu nakituo
cha kibiashara cha Salama. Watu watano walifariki papo .
hapoxlhahhaowmgmewahﬁahospﬁahmhmyaMombma. N
Polisi walisemaajali hiyo ilitokea mnamosaakumina |
mbili magharibi Jumatatu. Walishuku breki za lori zilikosa
kushika ndipo likaacha barabara. Miongoni mwa . |
waliojeruhiwa alikuwa mtoto mchanga wa mimka minane |
ambaye alivunjika mguu.
Katika ajali ya Kakamega abiria watatu walifariki duma
papo hapo. Mitu wa nne alifariki alipokuwa akitibiwa katika
hospltah kun ya Kakamega. Basi hilo lilikuwa limebeba abiria
ishirini na wawili. Maiti baadayabamkmmlhwa.

lenye namban zaUganda na watu watatu wakakata kamba.

Kulmgananataanfahnmmmlmbo manggpl
yaliyotajwa?

A. Sita

B. matatu

C. saba

D. matano T

Ni sentensi ipi 1hyevsahlh1‘7

A. Ajali yaKakamega iliua watu wanne

42.

B. A_]ah yakajiado ilitokea kan'bu nakituo cha—e
Salama _

Katika ajali ya Kajiado lori la serikali liligongananagari



43.

44.

45.
46.

47.

s g e g

- D
50.

A, wanane

A. kuminziWanne

- C. miatano na sabini

C. Idadi ya abiria wote waliofariki ni kumi na mmqa
D. Ajali yaMombasa ndiyo iliyowaua abiria wengi -
Katika ajali ya kwanza, ni watu wangapi waliokufa

] . l. .? Y

B. wawili
C. watatu ‘
D. hatujaambiwa : ,
Msemolmkatakmnbahﬂmgananataanfam]amaana
m‘?

A. kukata kamba ukitumia kisu

B. kuumia

C. kufariki

D. kuanguka pandcmwmgme wakamba

Ajali yalori ilitokea wakati upi?

A. saa kumi nambili jioni

B saakuxmnamblhawbuhi

- C.saambilijioni o

D. hatujapewa jibu

Neno mkahawa lina maana gamkatlkataanfa‘7 i
A. Jengolakuuzianguo

B. Mahali watu wanapokaa _

C. Jengola kuuzia kahawa

D. Mti unaozaa kahawa
Wahoumlaplawanawemkmtwa

A. majeruhi
B. wajeruhi
C. marehemu-

B. miatano nathemanini

D. kumi na mmoja
Nmamahyevmmkamguu"
A. Dereva

B. mtoto \
C.uingo "

Kichwa mwafaka cha habari hiini -
A. Ajali wilayani

B. Usafiri wa abiria

C. Ajali barabarani

D. Vifo vya watu






